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i

.
22

aZEREL, 2008 f)=x3—(a+2)2+(a—2)x+2a+1Lg(x)=—x2+1%E% %,
U flo)— g(x) 2 RESHE X
2 y=fly=g)DFST7TOREEN2BETHBLE) ha KDL,

B iR QOFEFEHLL, SLLFODERERLIIVIREVETZ. y=f(N)Ly=g)DrT7 %A UEELHI
B Lo

BOLS % 10RSH 1 02K ABCD-EFGH (BT, AD FICfPE LY, BAAPDESE s 55, S0k
. 457 AG L5 FP XIUAT ADGF FCith s, 20%m% X 45,
1D B AXORS%p 2 BVTEE,
2) ZA®APX OWEREF p ZHVTEE,
(3) M ABPX & IUHE{A EFGX OB ORI % V &35, V % p B HWTELE,
(4) EPEDAD LCEATEE, V ORMEERD L,

BE1IFEPNIHR;2E, BF2HEPNAEHN2E, BEIFEINRNE2ME, BE4PEPNIHTF2E, ShbeT
BEOEPRICA-T VD, F—FESHAEL, RORBTE SHAT .
K, o3kE 1ERHIHL, BFEFEPATVIEE,
e FRoTWVEA— FOMEMNE B EDBHE, #— 12 IHII %,
2 FoTWVE I — FOMEA & RBOBKE, 71— FIIIY B2 %,
1 BOHLARZERRORIETLE, SHORTOHETH— FAIHAETRS TV RHEREERD X,
@2 BYBLAREEOFHIRE2VWEE, SHEHORTOHETH— FIBo TWRWHEELRD X,
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CORFRBIMBE L EHRIERENTDDOTH L, BEFRERCH-T
MALTIV, ZOARERIFELR > TIv,

& % K
“'ZH’ > Jab, Lg‘L—Cgsabc, (@ b, c BEE7120)

@+ b2+ )P+ 9+ 2= (ax + by + 2)?

= 5 B

a b ¢
snd ~ snB _ smC 2R

a*=0b%+c*—2bccosA

S=~;—bcsinA=«/s(s-a)(s—b)(s—c), (s=—;—(a+b+c))

B B & 0

BEMEO2 Hx nhmin CRATEE BLUsaTss: Mt  mn=m

;;;;;

m+n m—n
A, y) BB ax + by +c=0LOERE, BITS(x, y, 20) EFHar +by+ez+d =0 LDFEH:
| ax; + by, + ¢l lax; + by, +czy + d |
Jat+p: Jat+ b2+ P

2 2
ER S+ 2 =1 E0f(n s B iR 2 + 20 =1

aZ

2 2
Rk =7 — 47 =1 LOA(n, y) B0 s8R 25— 2 =1

(~ 7z + N
20DNRZ NDETH L cosl = lgt'l_zi
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BERFR z=r(cosf +isind), (r=|z|, § =argz)
zy=r(cosb, +isinb,), zo=ry(cos8; +isind) T L, 2122 = mralcos(8;+ 85)+ isin(8; +8,)}
F-E7TWVOARK 1z =1r(cosf +isind)IZHKL, z*=r"(cos nd + i sinnf)

(% L BB O BER)
P2t +g=0DENa, FDEE, a+B=—p, af=gqg
Bt g+ r=00FNae, B, TDLE a+Bf+r=—p, aB+Br+tra=gq, afr=—7r

€5) )
_ logy M

loge M _—logba
= B B B0

sin(e + B)=sine cos 8 + cosa sin B

cos(a + B)=cosa cos f — sine sin 8

tan @ -+ tan £
l—tanetan B

cos2a =1—2sin*a = 2cos’a — 1

tan(a + B) =

sina cos B8 =

L {sin(a + 8)+ sin{e — B)}

2

. 1 . .

cosa sin B ——7{5111(& + 8)— sin(e -—ﬁ)}
cos @ cos B :-—;—

{cos(a/ -+ B) + cos(e -—B)}

sine sinf = —% {cos(a + 8)— cos(a —ﬂ)}

sixlA-l-sinB'—‘ZsinA‘;B cosA_B

2
sinA — sin B = 2 cos A+E sin 4—B
2 2
cosA+cosB=2cosA; cosA;B
cosA —cos B = — 2sin BsinA_B
2 2
. . b a
asind +bcostd =/a?+b%sin(f +a), (sihe =——, cosa =—F——)
a®+ bt Ja?+ b?
(% 5

MEa AE Eﬁn@%iﬁﬂ@%ﬂ15,,=%n(a+é)=%n{2a+(n—-1)d}, U=a+n—1)d)
M a, BHr :ﬁz;fcm%rzwmn:su:—“—(—}—}:—"—)—, (r1)

2
13+23+33+...+n3={%n(n“}-l)}
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lim ( 1 +%)”=e = 2.71828--

7 -0

lim S x =1

x—0 X
I
{Flan} =7 (99

x=f(y)0)2:%%=(dx)_l

dy
- _ dy _ y ()
x=x(t), y=y() DL & e
(tanx)’ = 12 , (logx)’ =1
cos?x x

x=g(0rE [1lg(0)g (it =[F(x)ar

[r@ewar =)o@~ [rng (ax

£ (x)
)

/1ogxdx=xlogx—x+C

& =loglf(x) |+ C

a 1 a dx 8
[V =R a=trraa>0), ST ax0). [0 - Hd =+ (-0

RO V=1 [ (F(0) ds
wgors [0 )1+ (L g = [/ (S 4 (D G=x0, y=y0), a=xa), 5=x(8)

(B - 4 & )
2Cr=u2_1C,+,-1C,_y, (1§7’_S_n _1>

(6 +5)" =3 ,Ca 0"

(h %)
B p OFGA n HOBRITH r EERBHER  P(r)=,Cp7¢" ", (g=1—p)

SRS - B (X0 = Dy, 1AL gy HEEBX Ml & L BHET, 3 pi=1%a7F T 5
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